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1. The value of gr+(—5qr)is
(i) (=6qgr) (ii) (=4qr) (i) (=3qgr) (iv) (=2qr) (v) (=5qr)

2. The value of the polynomial(6t2u2 -2 2 -8¢ v)at t=4,u=(-1),v=(-5) is

(i) 3022 (ii) 3024 (iii) 3025 (iv) 3026 (v) 3023

3. Which of the following algebraic expressions is a trinomial?

(i) (7n202p3+7nop2—9np2+702p3) (ii) (—5n20p2) (iii) (—5n203+4n202p3)

(iv) (—4n3o+9n203p3—6n20) (v) (4n3p2—6n02p+9nop—o)

4. The coefficient of term gin polynomial (g2 —-g-—2)is

(i) 2 (ii) -4 (i) -1 (iv) -2 (v) O

5. Which of the following is a like term of (—7/2k2/) ?

(i) (—42jk%) (i) (=322K2) (i) (=7i2k%) (iv) (=272/2K) (v) (—2ijk?)

6. The value of the polynomial0at g=(-3),h=(-5),/=0 is
(i) 3 (ii) 1 (i) -1 (iv) -2 (v) O

7. The value of - t> — -2 is
2 3
1 1 1 1 1
) (—=£3) (i) (==83) (iii) =83 (iv) (—=£3) (v) (-=83
()(2)()(4)()6()(6)()(8)
8. Which of the following is a factor of27x4y3z5 ?
(i) 9xy*22 (i) 9xZ2 (i) 9x2® (iv) 9x*2® (v) x°Z2
2. 2. 3
9. The value of =2 = =5 == 13 js
3 3 4
5 3 1 1 3
) (=>12) (i) (==£2) (iii) (=>12) (iv) (==£2) (v) (=>1°
()(4)()(2)()(4)()(2)()(4)
10. The value of 4h2 /22 —(—8h22j2) —8H2 /22 —(—=Th22j%)is
() 12h%/2/2 (i) 11A%272 (i) 10n%22/2 (iv) 13h%%/2 (v) 9h?i2/2

11. The value of the polynomial(—9fg+7gh—-5g)at f=5,9g=(-4),h=3 is
(i) 114 (i) 119 (i) 117 (iv) 115 (v) 116



12. The value of W2 x2)2 —(—6w?x2)?)is

(i) 6w2x2y2 (i) 8u2x2y? (i) 4w?x2y? (iv) Tw2x2y2 (v) 9w?x2y?

13. Which of the following is not a factor of40x":’y3z3 ?

(i) 8x2)322 (ii) 8x3)222 (iii) 8x°y22 (iv) 8x*)37 (v) 8x0)~4A4

14. The value of-lmn —-1mn is
2 2
(i) (=1) (i) 1 (ii) (=3) (iv) 0 (v) 2

15. The value of(9p+1) —(8p+4)is
(i) (=3) (i) (3p—=3) (i) (=2p=3) (iv) (p—3) (v) (2p-3)

16. The constant term in ponnomiaI(—ZaB—Sa2 —7a-5)is
(i) -3 (i) -7 (i) -5 (iv) -4 (v) -6
1 2 .
17. The value of5h +-3h|s

11 13 13
0oty 2a G vy S35
(i) 15 (ii) 15 (iii) A (iv) 17

18. Which of the following is a like term of6e2 ?

(i) 32 (i) (—6e) (i) 6 (iv) 8e% (v) Tef

1 1
19. The value of-2 bc + 3bcis

) 1 7 ) 5 5
(i) -8bc (ii) 2bc (iii) -6bc (iv) 6bc (v) -4bc

20. The value of(—4azbc2 —4ac? -1) —(—ab262—5b2—8bc) —(—682C—95b—4b2C) is
(i) (—3a2bc2+6a%c+ab?c?+9ab—4ac?+4b%c+5b2+8bc—1)
(i) (—4a2bc2+6a%c+ab?c?+9ab—4ac?+4b%c+5b%2+8bc—1)
(i) (—4a2bc2+9a%c+ab?c?+9ab—4ac?+4b%c+5b2+8bc—1)
(iv) (—4a?bc2+3a%c+ab?c2+9ab—4ac’+4b%c+5b%+8bc—1)

(V) (=5a82bc?+6a2c+ab’c?+9ab—4ac’+4b%c+5b%+8bc—1)

21. The value of(—9fzgz) +2f2g2 +4f2g2 +2f2g2 is

(i) (=3£g2) (i) 2Rg? (i) (—-2Rg%) (iv) 0 (v) (—Rg?)



. Which of the following algebraic expressions is a trinomial?

(i) (-8a%+a3-2a%2-8a-6) (i) 833 (i) (=7a%+6a3+a%+3a+2) (iv) (—2a%+6a) (v) (5a2—a+8)

. The value of (= 4) + (=) +94 +7%is

(i) 12/% (i) 14/* (i) 16/4 (iv) 154 (v) 13/

. The value of (7y2—6y—4) + (=52 —5y—8)is

(i) (=11y—12) (i) (y2—-11y—12) (i) (4y2—11y—12) (iv) (3y2—11y—12) (v) (2y%2—-11y—12)

. The value of the ponnomiaI(—3p2qr+2pq2r+6pq2) at p=(-3),g=0,r=(-5) is

(i) -1 (i) O (i) 1 (iv) 2 (v) -2



Assignment Key

1) (ii) 2) (ii) 3) (iv) 4) (iii) 5) (iii) 6) (v)
7) (iv) 8) (ii) 9) (v) 10) (ii) 11) (v) 12) (iv)
13) (v) 14) (iv) 15) (iv) 16) (iii) 17) (ii) 18) (iv)
19) (iv) 20) (ii) 21) (v) 22) (v) 23) (ii) 24) (v)
25) (i)
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